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1. On January 1, 2014, Kwan Corporation acquired machinery at a cost of $250,000. Kwan adopted the

3. On January 1, 2017, Law Company

double-declining balance method
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of depreciation for this machinery and had been recording

depreciation over an estimated useful life of ten years, with no residual value. At the beginning of 2017,

a decision was made to change to

depreciation expense for 2017 would

is 30%.

the straight-line method of depreciation for the machinery. The
be

2. At Rose Company, events and transactjons during 2017 included the following. The tax rate for all items

(1) Depreciation for 2015 was found to be understated by $45,000.

(2) A litigation settlement resulte

1 in a loss of $37,500.

(3) The inventory at December 31, 2015 was overstated by $60,000.
(4) The company disposed of its lecreational division at a loss of $750,000.

The effect of these events and transactions on 2017 net income net of tax would be

market price for the equipment wh

£105,000 zero-interest-bearing note

purchased equipment from Tales Inc. There was no established
ch has an 8 year life and no salvage value. Law gave Tales a

payable in 3 equal annual installments of £35,000, with the first

payment due December 31, 2017. The prevailing rate of interest for a note of this type is 8%. The
present value of the note at 8% wgs £90,199. Assuming that Law uses the straight-line method of

depreciation, what amounts will be reported in the company’s 2017 income statement for interest

expense and depreciation expense for the note and equipment? .,

4, Dan Inc. uses the conventional retdil method to determine its ending inventory at cost. Assume

the beginning inventory at cost (retail) were $65,500 (899,000), purchases during the current
year at cost (retail) were $568,000 ($865,600), freight-in on these purchases totaled $26,500,
sales during the current year totaled $811,000, and net markups were $69,000. What is the

ending inventory value at cost?__|

down payment of $2,000 was ma
beginning on September 1, 2016.
an employee strike, Doris could n

5. On August 1, 2016, Doris Corporation purchased a new machine on a deferred payment basis. A

de and 4 annual installments of $6,000 each are to be made
The cash equivalent price of the machine was $23,000. Due to
ot install the machine immediately, and thus incurred $300 of

storage costs. Costs of installatior] (excluding the storage costs) amounted to $800. The amount
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should be capitalized as the cost of the machine is

6. Equipment that cost $80,000 and has ac¢umulated depreciation of $63,000 is exchanged for equipment
with a fair value of $32,000 and $8,000 cash is received. The exchange lacked commercial substance.

Prepare the entry for the exchange.

7. On December 1, 2017, Don Co. purchased a tract of land as a factory site for $800,000. The old building
on the property was razed, and salvaged materials resulting from demolition were sold. Additional costs

incurred and salvage proceeds realized during December 2017 were as follows:

Cost to raze old building A $70,000
Legal fees for purchase contrapt and to record ownership 10,000
Title guarantee insurance 16,000
Proceeds from sale of salvaged materials 8,000

In Don's December 31, 2017 statement of financial position, what amount should be reported as land?

8. For the year ended December 31, 2017, Tom Inc. reported the following:

Net income $120,000
Preference dividends declared 20,000
Ordinary share dividends declared 4,000
Unrealized holding loss, net of tax 2,000
Retained earnings, beginning balance 160,000
Share capital — ordinary 80,000

Accumulated other comprehensive income,
Beginning balance 10,000
What would Tom report as the ending balance of Retained Earnings?

9. On its December 31, 2015 statement of financial position, Mine Corp. reported bonds payable of
$5,680,000. The bonds had a $6,000,000 face value. On January 2, 2016, Mine retired $3,000,000 of the
outstanding bonds at par plus a call premium of $70,000. What amount should Mine report in its 2016

income statement as loss on extinguishment of debt (ignore taxes)?
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